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1.  A container holds 18 litres of orange juice. How much milk will fifteen  

       containers hold?  

 

 

 

 

 

 

 

 

 

 

2.  A school has 727 pupils. One day 69 are away.  

     How many are left in the school? 

 

 

 

 

 

 

 

 

 

 

 

3.  If I divide a number by 18, the answer is 34. What was my number? 

 

 

 
 

 

 

 

 

 

 

 

 
 
 
 

Work out each problem and then fill in the table. 

Operation:     
Method:  

How:  

Answer:  

Operation:     
Method:  

How:  

Answer:  

Operation:     
Method:  

How:  

Answer:  
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1.  ×,  270 litres 

2.  –,  658 pupils 

3.  ×,  612  

 


